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1. FHST Maxwell DESE, (BRBEEARNES Q0%
\

2. —EHHMFFAMAYEH AR LAY S T B T wave function( ZEZESEHEY pressure P(x,0), ¢ B
M, x RALE ) W,
P(x, t) =3.00x 10” sin[ (4.00 rad/m)x - (1.6x 10’ rad/s)¢ ] Pa (B ZEREE =] 2kg/m®)
(1). ML wave BY pressure amplitude, wavelength, period & 2 (12%)
. 1E =0, x=r/8 ¥, 7E x FTEEEIRTEH intensity BHK? (5%)
(). FEL wave B frequency BEFRRIREESX TR A9 fundamental frequency #BE » RIEI I
MRTRERA? (3%) |

3. () HE RS RSN EEEE S BT, ERERBMA? (10%)

(2) TEHPREEBEEE DL P A1 S B BINGEHE, 3 P WBORAS 8 ks, S BERSEAS 5 kms.
FE—-FHBERINEETERT, S e P2 1% 2 HEIKE. BREERSFASES, SRtE
TERELEISE S REE T4 ? (10%)

4. (1) BRAFELE stress A1 strain B BB R RIERILRAER (10%)

Q) BB —YNERNE stress F strain BIBIRE, stress 7F c LEEHE N
BUREIRERR. E-PEES A o, b f1 ¢ AFIS 0.1, 0.5 0
 0.8GN/m’. BYIIEHEER 0.6 cm, FIIABERES 1*10"n’, it
MR —E. EERAIEIEIR AN, BTHEEHR

Stress (GN/m?2)
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BRTTERENNE. () SRR 28t L/
TELDERE? 5%) (0) —E£EES 100 me, FES 20 ms L
HREBERIEEES 247 SERETRETE %) 0 1.0 14 2.0

5. (1). BBt Damped Simple Harmonic Motion B3EB) 5725, (equation of motion) (BB HEEE
RUMPLBHAEESR) (10%)

(2). In the right figure, the block has a mass of 2 kg and the spring
constant is 10 N/m. The damping force is given by - bv, where b
=100 g/s. The block is pulled down 12.0 cm and released.

(a) Calculate the time required for the amplitude of the resulting
oscillations to fall to one-third of its initial value. (5%) (In3=1.1)

(b) How many oscillations are made by the block in this time?
(5%)

Rigid Support

:: Springiness, k




